Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/1 F 9:30 am Form A quiz #

Name K@’L,/ Name

(print name) (sigh name)

Please show all work for full credit & for partial credit for all questions.

L. Given the following balanced reaction, if you start with 1.78 moles of Nz (g), how many liters of the
gas NH; is produced at STP? [ 22.4 Liters = 1 mole of gas at STP ] (show work) (6 pts)

Na(g)+ 3Hz(g) > 2Nz (g)
N2 noleg . 2md M 22 44 Wy Q.7
N @K [rted < | sl 2 = .74
A Ny Wj

2. Are the following quantum numbers allowed for one electron ? no) (circle one) Explain.(4 pts)

0=3,/=2,m,=-1, m=+% PFJQ__Z my = ,3 —,0,+1, 4L SwOK
Q = O-'(:o(?”'USOOK Q,Cé&w\ be —[—O»~— i So 01(_
3. Give the electron configuration for the element Ge . You should use the format of (1% 2¢%, etc

This is not me giving the start of your electron configuration but just telling you the format for your answer. )

(SptS)'§L 2_51 zfé 52 77‘?6/ 451) ;Op/@ 4_ -

Colvs N-D— couwnt oﬁam{?m
C-f;; > OL%rOgjﬁ b " 7 QZM

4 Give an orbital diagram for the electron co t10n for the element B.  You should show the
lowest energy at the bottom of this space and the hxghest energy at the top of this space. (I typed the orbitals
so that I can draw the thing on one line for ease of typing, you should show any difference in energy by
drawing lines on different levels.) Use the format. 4y 4 _ _ (Sps)

o ?1‘/ 2-96 Zpl

Extra Credit: (stuff gone over in today*s-tecture)- What 1s the valence electron configuration for the element
Sb? Give the valence electron configuration in the form of (1s% 2s® etc. This is not me giving the start of
vour electron conﬁguration but Just telling you the format for your answer) (4 pts)

SbAin Grow 9 As Sveleee &
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Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/1 F 9:30 am Form B quiz #

Name / é@")/ Name

(print name) 4 (sign name)

Please show all work for full credit & for partial credit for all questions.

I Given the following balanced reaction, if you start with 0.552 moles of O: (g), how many liters of the
gas H;O is produced at STP ? [22.4 Liters = 1 mole of gas at STP] (show work) ( ¢, fﬁ)

2H; (g) + O2(g) 2 2H,0 (g)

(35‘5hv/ 20D 0 i n (e
Ty EW /L 474 o (g)

O H‘LO

2, Are the following quantum numbers allowed for an electron ? (yes, ircle one) Explain. (4 pts)
7

Ve the electron configuration for the elfment Se . You should use the format of (157, 25°, etc
This is not me giving the start of your electron conﬁguration but just telling you the format for your answer. )

(5 pts) ‘51 7,; Z’f/ %52 '%;/ 45 ;gﬂfﬂ 49&
@, Vs N sk B 59 C/W’;&‘ﬁ/ ¢ [ ererts

ACr0ss  poed o Laldle
Give an orbital diagram for the electron configuration for tﬁe element P using the format. You

should show the lowest energy at the bottom of this space and the highest energy at the top of this space. (I
typed the orbitals so that I can draw the thing on one line for ease of typing, you should show any difference
in energy by drawing lines on different levels.) Usetheformat. 4y, 4  (5pts)

P 152, 5 45t 5

Extra Credit: (stuff gone over in today’s lecture) What is the v ectron configuration for the element
Ga ? Give the valence electron configuration in the form of (15, 2s® etc. This is not me giving the start of
your electron configuration but just telling you the format for your answer) (4 pts)

@;2:/" L' )—’7 fa v ;hﬁ,@w},;.—-m@, 3 pelolos




Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20pts 11/1 F 10:30 am Form A quiz #

Name / (ol Name

(print name) ' 7 (sign name)

Please show all work for full credit & for partial credit for all questions.

1. Given the following balanced reaction, if you start with 15.7 moles of Na (s) , how many liters of
the gas Hy (g) is produced at STP ? {224 Liters = | mole of gas at STP] (show work)

2Na(s) + 2H.0() 2 2NaOH(aq) + Ha(g)

2. a Ifprincipal quantum number n=3 @ what are the possible ( 4 pts)
angular momentum quantum numbers {7 ) o O / [ y Z ( Oy “ - l = ; "’( = Z)

3. Give the electron configuration for the element Br . You should use the format of (15, 257 etc
This is not me giving the start of your electron configuration but just telling you the format for your answer. )

sy 5T et ot hp 4t v S

4. Give an orbital diagram for the electron configuration for the element F using the format. You
should show the lowest energy at the bottom of this space and the highest energy at the top of this space. (I
typed the orbitals so that I can draw the thing on one line for ease of typing, you should show any difference
in energy by drawing lines on different levels.) Use the format. I 1  (Spts)

g L )¢t

Extra Credit: (stuff gone over in today’s le 4Pts) What is the valence electron configuration for the

element CI ? Give the valence electron configuration in the form of (1s”, 25” etc. This is not me giving

the start of your electron configuration but just telling you thew
W oy l

P

'7 /
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Quiz V General Chemist?rI Lecture Fall 13 Dr. Hahn 20pts 11/1 F 10:30 am Form B quiz #

Name w\/ Name

(print name) ' ) (sign name)

Please show all work for full credit & for partial credit for all questions.

1. Given the following balanced reaction, if you start with 0.772 moles of NaNj; (s), how many liters of
the gas N» is produced at STP ? [22.4 Liters = 1 mole of gas at STP] (show work) (6 pts)

2NaN; (s) 2> 2 Na(s) + 3 Nz (g)

/%/U; Ny

2. If angular momentum quantum number is /= 2(nickname d) T{Rickaame.p), what are the possible (4 pts)

magnetic quantum numbers (m,) = ) : ""l /, 0 ) + l y! f Z

3. Give the electron configuration for the element Ga . You should use the format of (1s%, 2s%, etc
This is not me giving the start of your electron configuration but just telling you the format for your answer. )

T 257 200, bt hpS 45 A b

4, Give an orbital diagram for the electron configuration for the element Al You should show the
lowest energy at the bottom of this space and the highest energy at the top of this space. (Ityped the orbitals
so that I can draw the thing on one line for ease of typing, you should show any difference in energy by
drawing lines on different levels.) Usetheformat. 91, 4 (5pts) T

WA 255 7

Extra Credit: (stuff gone over in today’s Iecture) What is the valence electron configura for the element
Bi? Give the valence electron confi guratlon in the form of (15%, 2s* etc. This is not me giving the start of
your electrg u th

i Cp ) G ingrp 7, 5 e &




Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/1 F 9:30 am Form A quiz #

Name Name
(print name) (sign name)

Please show all work for full credit & for partial credit for all questions.

L Given the following balanced reaction, if you start with 1.78 moles of N; (g), how many liters of the
gas NH; 1s produced at STP? [ 22.4 Liters = 1 mole of gas at STP ] (show work) (6 pts)

Nz (g)+ 3Hz(g) = 2NH;(g)

2. Are the following quantum numbers allowed for one electron ? (yes, no) (circle one) Explain.(4 pts)
n=3, /=2, m;=-1, me=+ %

3. Give the electron configuration for the element Ge . You should use the format of (157, 257, etc
This is not me giving the start of your electron configuration but just telling you the format for your answer. )

(5 pts)

4. Give an orbital diagram for the electron configuration for the element B.  You should show the
lowest energy at the bottom of this space and the highest energy at the top of this space. (I typed the orbitals
so that I can draw the thing on one line for ease of typing, you should show any difference in energy by
drawing lines on different levels.) Usetheformat. 4 {4  (5pts)

2s 2p

Extra Credit: (stuff gone over in today’s lecture) What is the valence electron configuration for the element
Sbh ? Give the valence electron configuration in the form of (1s%, 2s® etc. This is not me giving the start of
your electron configuration but just telling you the format for your answer) (4 pts)



Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/1F 9:30 am Form B quiz #

Name Name
(print name) (sign name)

Please show all work for full credit & for partial credit for all questions.

1. Given the following balanced reaction, if you start with 0.552 moles of O; (g), how many liters of the
gas H2O is produced at STP ? [22.4 Liters = 1 mole of gas at STP] (show work) ( ¢ r{_.;)

2H, (g) + 02 (g) > 2H:0 (g)

2. Are the following quantum numbers allowed for an electron ? (yes, no) (circle one) Explain. (4 pts)

s

n=3, /=32 my=-3, m=-%

3. Give the electron configuration for the element Se . You should use the format of (15%, 25> etc
This is not me giving the start of your electron configuration but just telling you the format for your answer. )

(5 pts)

4. Give an orbital diagram for the electron configuration for the element P using the format. You
should show the lowest energy at the bottom of this space and the highest energy at the top of this space. (I
typed the orbitals so that I can draw the thing on one line for ease of typing, you should show any difference
in energy by drawing lines on different levels.) Use the format. 4y, A4 (Gt

2s 2p

Extra Credit: (stuff gone over in today’s lecture) What is the valence electron configuration for the element
Ga ? Give the valence electron configuration in the form of (1s%, 25 etc. This is not me giving the start of
your electron configuration but just telling you the format for your answer) (4 pts)



Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20pts 11/1F 10:30 am Form A quiz # ) "‘X

Name Name
(print name) (sign name)

Please show all work for fuil credit & for partial credit for all questions.

L Given the following balanced reaction, if you start with 15.7 moles of Na (s) , how many liters of
the gas Hj (g) is produced at STP ? [22.4 Liters = 1 mole of gas at STP] (show work)

2Na(s) + 2H,0() > 2NaOH (aq) + H; (g)

2. a, Ifprincipal quantum numbern=3 xwhat are the possible ( 4 pts)

angular momentum quantum numbers ( # )

3. Give the electron configuration for the element Br . You should use the format of (1s2, 257, etc
This is not me giving the start of your electron configuration but just telling you the format for your answer. )

(5 pts)

4. Give an orbital diagram for the electron configuration for the element ¥ using the format. You
should show the lowest energy at the bottom of this space and the highest energy at the top of this space. (I
typed the orbitals so that I can draw the thing on one line for ease of typing, you should show any difference
in energy by drawing lines on different levels.) Use the format. i, 4 (5pts)

—

2s 2p

Extra Credit: (stuff gone over in today’s lecture) (4 pts) What is the valence electron configuration for the
element Cl ? Give the valence electron configuration in the form of (15, 2s® etc. This is not me giving
the start of your electron configuration but just telling you the format for your answer)



Quiz V General Chemistry I Lecture Fall 13 Dr. Hahn 20 pts 11/1F 10:30 am Form B quiz# ) ..\’)

Name Name
(print name) (sign name)

Please show all work for full credit & for partial credit for all questions.

1. Given the following balanced reaction, if you start with 0.772 moles of NaNs (s}, how many liters of
the gas N is produced at STP ? [22.4 Liters = 1 mole of gas at STP] (show work) (6 pts)

2NaN; (s) > 2 Na(s) + 3 Nz (g)

2. If angular momentum quantum number is /= 2(nickname d) ¥ (s¥Rpamep), what are the possible (4 pts)

magnetic quantum numbers ( my,)

3. Give the electron configuration for the element Ga . You should use the format of (1s%, 25, etc
This is not me giving the start of your electron configuration but just telling you the format for your answer. )

(5 pts)

4. Give an orbital diagram for the electron configuration for the element Al You should show the
lowest energy at the bottom of this space and the highest energy at the top of this space. (I typed the orbitals
$0 that I can draw the thing on one line for ease of typing, you should show any difference in energy by
drawing lines on different levels.) Usetheformat. 1 4 (5pts)

2s 2p

Extra Credit: (stuff gone over in today’s lecture) What is the valence electron configuration for the element
Bi? Give the valence electron configuration in the form of (15, 25° etc. This is not me giving the start of

your electron configuration but just telling you the format for your answer) (4 pts)



